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# first complex vector.py: IKWIDEHF Y MLHE
import numpy as np # NumPy

# X7 v
vec a = np.array([complex(1l, 1), 2 + 2 * 1j, 3 + 3 * 13])
vec b = np.array([complex (-3, -3), complex(-2, -2), complex(-1, -1)])

print ('vec a , vec_a)

print('vec b = ', vec b)

# XU RNVEHENTE D
vec ¢ = np.sqrt(2) * vec a - np.sqrt(3) * vec b

print('vec ¢ = ', vec c)

FATRER -

[1.+1.7 2.+2.j 3.+3.7]

[-3.-3.j -2.-2.j -1.-1.j]
[6.61036599+6.61036599] 6.29252874+6.292528747j 5.97469149+5.9746914975]
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-1/4-



FRIAEE TARRSE [ e
LAR— b Ak
# first complex matrix.py: HHDOEFITHIEEA
import numpy as np # NumPy

# FEITH: 3 + 31 -> 3 + 33, 3 + 3 * 1§ or complex (3, 3)
mat a = np.array ([
1 +13, 2 +2 * 13, 3 +3 * 17371,
(2 + 23, 3+3 * 13, 4+ 4 ~* 1371,
[3 +3j, 4+ 4 *1j, 5+ 5 * 17]
1)
mat b = np.array ([
(-3 - 33, -2 - 23, -1 - 131,
(-2 - 23, -1 - 13, 01,
(-1 - 13, 0, 1 + 171
1)

print('mat a =

|
H<
3

mat a)

print('mat b = ¥n', mat b)

# ITHIHE N TE 5
mat ¢ = (2*%*(1/2) + 13) * mat a - (np.sgrt(3) * 1j) * mat b

print('mat ¢ = ¥n', mat c)

FATHESR:
mat_a =
[[1.+1.j 2.+2.j 3.+3.75]
[2.42. 3.+3.j 4.+4.7]
[3.43.j 4.+4.j 5.+5.5]1]
mat_b =
[[-3.-3.j -2.-2.j -1.-1.7]]
[-2.-2.j -1.-1.j 0.+0.j]
[-1.-1.7 ©0.4+0.j 1.+1.j1]
mat_c =
[[-4.78193886 +7.61036599] —2.63567449 +8.2925287u]
-0.48941012 +8.9746914975]
[-2.63567449 +8.29252874j -0.48941012 +8.97469149]
1.65685425 +9.656854257]
[-0.48941012 +8.97469149j 1.65685U425 +9.65685U25]7
3.80311862+10.339017] 1]

i 3 [HRE 4.7
# M&E 4.7
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import numpy as np # NumPy

# M 4.7 (1)
vec v = np.array([3 + 2j, -4 - 5j])
print ('||vec v|]| 2 = ', np.linalg.norm(vec v))

print ('sgrt(vec v, vec v) = ', np.sqrt(np.conj(vec v).dot(vec v)))

# ME 4.7 (2)

vec w = np.array([-2 + 13, -2 - 731)

print('||vec v + vec w|| 2 = ', np.linalg.norm(vec_ v + vec Ww))
print('||vec v|| 2 + ||vec w|| 2 ="', np.linalg.norm(vec v) +
np.linalg.norm(vec w))

if np.linalg.norm(vec v + vec w) <= (np.linalg.norm(vec v) +

np.linalg.norm(vec w)):

print ('||vec v + vec wl|| 2 <= ||vec vI| 2 + ||vec_wl|| 2 MRKIL")
else:
print ('||vec v + vec w|| 2 > ||vec V|| 2 + ||vec w|| 2 ASST (3 1572

W)

mat a = np.array ([
(-1 + 23, -3 - 331,
(-5 - 43, -2 - 73]
1)

mat b = np.array ([

(=73, =531,

(2, 31
1)
print('||Imat a + mat b|| 2 = ', np.linalg.norm(mat a + mat b))
print('||Imat all 2 + ||mat b|| 2 = ', np.linalg.norm(mat a) +

np.linalg.norm(mat b))
if np.linalg.norm(mat a + mat b) <= (np.linalg.norm(mat a) +

np.linalg.norm(mat b)) :

print('|Imat a + mat b|| 2 <= [|mat_all 2 + |Imat b|| 2 AEKIL")
else:
print('|Imat a + mat b|| 2 <= ||mat_all 2 + |Imat bl|| 2 I (HV1F
ZNAPRD
FATHRER
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| [vec_v]||_2 7.3U484692283495345
sqrt(vec_v, vec_v) (7.3u846922834953U5+07)

| |[vec_v + vec_w]||_2 = 13.784048752090222
| [vec_v||_2 + ||vec_w||_2 = 14.964242334213443

| [vec_v + vec_w||_2 <= ||vec_v]||_2 + ||vec_w||_24" B3z
| Imat_a + mat_b||_2 = 13.19090595827292

| Imat_a||_2 + ||mat_b||_2 = 20.144032879480783

| Imat_a + mat_b||_2 <= ||mat_a||_2 + ||mat_b||_24% B iz
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